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Sir Wilfrid Laurier was elected as Prime Minister: 1896
Canada’s First French-Canadian Prime Minister.
French and English ties were weak because of the Northwest Uprising incident and the execution of Louis Riel.
Laurier’s goal was to promote national unity.
Laurier won his election because of a crisis that happened over the Manitoba school system. 
1) Manitoba created an English only school system.
2) This event violated the Manitoba Act.
3) John A. Macdonald’s government didn’t want to do anything.
4) Laurier did want to solve the issue. People voted for him.

Events that lead to John A. Macdonald’s Downfall:
1) Boer War: __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
2) Naval Crisis Incident: __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
3) Reciprocity: __________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
